SUDOKU - PINOCCHIO

Place the digits 1-9 in each column, each
row and in all nine 3x3 regions.

There are three digits 5 written in a
different lay out. Two of these digits are
correct, while the third one is the lying
Pinocchio. Find out which digit is incorrect
and solve the puzzle as a standard
sudoku.

SUDOKU - PINOKKIO

Plaats de cijfers 1 tot en met 9 op elke
rij, in iedere kolom en in de negen 3x3-
blokken. In het diagram staan drie
speciale vijven. Twee van die drie cijfers
zijn correct, de derde is de Pinokkio.

1 2 3
2 9 4
3 1 7
2 4 6 5
6 5 4
7 9 6 2
8 3 7
5 2 8
6 4 9




